FORM NO. MGT-7

Refer the instruction kit for filing the form.

(d) *Telephone number with STD code

Date of Incorporation

(e) Website

(iii)

Form language

[Pursuant to sub-Section(1) of section 92 of the Companies Act, 2013 and sub-rule (1) of rule 11of the Companies (Management and Administration) Rules, 2014]



Annual Return

(other than OPCs and Small Companies)

I. REGISTRATION AND OTHER DETAILS		
(i) * Corporate Identification Number (CIN) of the company	U27109HR2003PTC035091	Pre-fill
Global Location Number (GLN) of the company		
* Permanent Account Number (PAN) of the company	AAEFV6690F	
(ii) (a) Name of the company	VIBHOR STEEL TUBES PRIVATE	
(b) Registered office address		
2139/1553, THANDI SARAK,HISAR HARYANA		
Haryana 000000		
(c) *e-mail ID of the company	account@vstlindia.com	

(iv)	Type of the Company	Category of the Company		S	ub-category of the Company	
	Private Company	Company limited	d by sha	ares		Indian Non-Government company
(v) Wh	ether company is having share ca	pital	•	Yes	\bigcirc	No
(vi) *W	hether shares listed on recognized	d Stock Exchange(s)	\bigcirc	Yes	(•)	No

9416122559

4/16/03

(vii) *Fina	ancial year From dat	te 01/04/2020	(DD/	MM/YYYY)	To date	31/03/202	(D	D/MM/YYYY)
(viii) *Wh	ether Annual genera	al meeting (AGM)	held	• Ye	s 🔾	No		
(a) If	f yes, date of AGM	30/11/20)21					
(b) E	Due date of AGM	30/11/20)21					
, ,	Vhether any extensi	_		COMPANY	Yes	No		
*N	lumber of business	activities 1						
S.No	Main Description Activity group code	ription of Main Act	Ac	siness De tivity de	escription o	of Business	Activity	% of turnover of the company
1	С	Manufacturino) C7	,	Meta	al and metal	products	100
S.No	Name of the cor		CIN / FCRN		Pre-f	diary/Associ	ate/ % d	of shares held
1								
) *SHAF	L RE CAPITAL, D RE CAPITAL y share capital	EBENTURES	AND OTHE	R SECUR	ITIES OI	THE CO	MPANY	
(a) Equity	y Share Capital							
(a) Equit	Particulars		norised Ipital	Issued capital		scribed apital	Paid up cap	ital
	•	са	pital			apital	Paid up cap	ital
Total nur	Particulars mber of equity share ount of equity share	es 145000	pital 141	capital	Ca	apital 00		ital
Total nur Total am Rupees)	Particulars mber of equity share ount of equity share	145000	pital 141	capital 83000	1418300	apital 00	14183000	ital

Number of equity shares

1 490 2 01 1	Page	2	of	1	4
--------------	------	---	----	---	---

Nominal value per share (in rupees)	10	10	10	10
Total amount of equity shares (in rupees)	145000000	141830000	141830000	141830000

(b) Preference share capital

Particulars	Authorised capital	Issued capital	Subscribed capital	Paid-up capital
Total number of preference shares	0	0	0	0
Total amount of preference shares (in rupees)	0	0	0	0

Number of classes	0
-------------------	---

Class of shares	Authorised capital	ICabitai	Subscribed capital	Paid up capital
Number of preference shares				
Nominal value per share (in rupees)				
Total amount of preference shares (in rupees)				

(c) Unclassified share capital

Particulars	Authorised Capital
Total amount of unclassified shares	0

(d) Break-up of paid-up share capital

Class of shares	Nu	ımber of sh	ares	Total nominal amount	Total Paid-up amount	Total premium
Equity shares	Physical	DEMAT	Total			
At the beginning of the year	14183000	0	14183000	141830000	141830000	
Increase during the year	0	0	0	0	0	0
i. Pubic Issues	0	0	0	0	0	0
ii. Rights issue	0	0	0	0	0	0
iii. Bonus issue	0	0	0	0	0	0
iv. Private Placement/ Preferential allotment	0	0	0	0	0	0
v. ESOPs	0	0	0	0	0	0
vi. Sweat equity shares allotted	0	0	0	0	0	0
vii. Conversion of Preference share	0	0	0	0	0	0

viii. Conversion of Debentures	0	0	0	0	0	0
ix. GDRs/ADRs	0	0	0	0	0	0
x. Others, specify						
Decrease during the year			0			
	0	0	0	0	0	0
i. Buy-back of shares	0	0	0	0	0	0
ii. Shares forfeited	0	0	0	0	0	0
iii. Reduction of share capital	0	0	0	0	0	0
iv. Others, specify						
At the end of the year	14183000	0	14183000	141830000	141830000	
Preference shares						
At the beginning of the year	0	0	0	0	0	
Increase during the year	0	0	0	0	0	0
i. Issues of shares	0	0	0	0	0	0
ii. Re-issue of forfeited shares	0	0	0	0	0	0
		. 0			"	ا
iii. Others, specify						
	0	0	0	0		0
Decrease during the year					0	
Decrease during the year i. Redemption of shares	0	0	0	0	0	0
Decrease during the year i. Redemption of shares ii. Shares forfeited	0 0	0	0	0	0 0 0	0
Decrease during the year i. Redemption of shares ii. Shares forfeited iii. Reduction of share capital iv. Others, specify	0 0	0 0	0 0	0 0	0 0 0	0 0 0

At the end of the year 0 0 0 0 0

SIN of the equity shares of the company

(ii) Details of stock split/consolidation during the year (for each class of shares)

Class of	f shares	(i)		(ii)	(iii)
Before split /	Number of shares				
Consolidation	Face value per share				
After split /	Number of shares				
Consolidation	Face value per share				
					L
• •	es/Debentures Transt t any time since the i				cial year (or in the case
⋉ Nil					
[Details being prov	vided in a CD/Digital Media]	○ Yes	○ No	Not Applicable
Separate sheet att	ached for details of transfe	ers	O Yes	O No	
Note: In case list of trans Media may be shown.	sfer exceeds 10, option for	submission as a se	eparate sheet	attachment o	or submission in a CD/Digital
Date of the previous	annual general meeting	1			
Date of registration	of transfer (Date Month \	Year)			
Type of transfe	er	1 - Equity, 2- Pr	eference Sha	ares,3 - Deb	entures, 4 - Stock
Number of Shares/ Units Transferred	Debentures/		ount per Sha penture/Unit		
Ledger Folio of Trar	nsferor				
Transferor's Name					
	Surname	m	iddle name		first name
Ledger Folio of Trar	nsferee	'		1	

Transferee's Name						
	Surname	middle name	first name			
Date of registration of transfer (Date Month Year)						
Type of transfer	1 - E	quity, 2- Preference Shares,3 -	Debentures, 4 - Stock			
Number of Shares/ Debentures/ Units Transferred Amount per Share/ Debenture/Unit (in Rs.)						
Ledger Folio of Trans	sferor					
Transferor's Name						
	Surname	middle name	first name			
Ledger Folio of Transferee						
Transferee's Name						
	Surname	middle name	first name			

(iv) *Debentures (Outstanding as at the end of financial year)

Particulars	Number of units	Nominal value per unit	Total value
Non-convertible debentures	0	0	0
Partly convertible debentures	0	0	0
Fully convertible debentures	0	0	0
Total			0

Details of debentures

Class of debentures	Outstanding as at the beginning of the year	_	Decrease during the year	Outstanding as at the end of the year
Non-convertible debentures	0	0	0	0
Partly convertible debentures	0	0	0	0
Fully convertible debentures	0	0	0	0

(v) Securities (other than shares and debentures)

()		,		ļ	
Type of	Number of	Nominal Value of	Total Nominal	Paid up Value of	Total Paid up Value
Securities		each Unit	Value	each Unit	
					
Total					
	,	1	,	1	

V. *Turnover and net worth of the company (as defined in the Companies Act, 2013)

(i) Turnover

5166318122.24

(ii) Net worth of the Company

626729007.04

VI. (a) *SHARE HOLDING PATTERN - Promoters

S. No.	Category	Equi	ity	Preference	
		Number of shares	Percentage	Number of shares	Percentage
1.	Individual/Hindu Undivided Family				
	(i) Indian	11246000	79.29	0	
	(ii) Non-resident Indian (NRI)	0	0	0	
	(iii) Foreign national (other than NRI)	0	0	0	
2.	Government				
	(i) Central Government	0	0	0	
	(ii) State Government	0	0	0	
	(iii) Government companies	0	0	0	
3.	Insurance companies	0	0	0	
4.	Banks	0	0	0	
5.	Financial institutions	0	0	0	

6.	Foreign institutional investors	0	0	0	
7.	Mutual funds	0	0	0	
8.	Venture capital	0	0	0	
9.	Body corporate (not mentioned above)	0	0	0	
10.	Others	0	0	0	
	Total	11246000	79.29	0	0

Total number of shareholders (promoters)

3	

(b) *SHARE HOLDING PATTERN - Public/Other than promoters

S. No.	Category	Equi	ty	Preference	
		Number of shares	Percentage	Number of shares	Percentage
1.	Individual/Hindu Undivided Family				
	(i) Indian	2537000	17.89	0	
	(ii) Non-resident Indian (NRI)	0	0	0	
	(iii) Foreign national (other than NRI)	0	0	0	
2.	Government				
	(i) Central Government	0	0	0	
	(ii) State Government	0	0	0	
	(iii) Government companies	0	0	0	
3.	Insurance companies	0	0	0	
4.	Banks	0	0	0	
5.	Financial institutions	0	0	0	
6.	Foreign institutional investors	0	0	0	
7.	Mutual funds	0	0	0	
8.	Venture capital	0	0	0	
9.	Body corporate (not mentioned above)	400000	2.82	0	
10.	Others	0	0	0	

	Total	2937000	20.71	0	0
Total nun	nber of shareholders (other than prome				
	aber of shareholders (Promoters+Public n promoters)	23			

VII. *NUMBER OF PROMOTERS, MEMBERS, DEBENTURE HOLDERS (Details, Promoters, Members (other than promoters), Debenture holders)

Details	At the beginning of the year	At the end of the year
Promoters	3	3
Members (other than promoters)	20	20
Debenture holders	0	0

VIII. DETAILS OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

(A) *Composition of Board of Directors

Category	Number of directors at the beginning of the year		Number of directors at the end of the year		Percentage of shares held by directors as at the end of year	
	Executive	Non-executive	Executive	Non-executive	Executive	Non-executive
A. Promoter	3	0	3	0	79.29	0
B. Non-Promoter	2	0	2	0	2.39	0
(i) Non-Independent	2	0	2	0	2.39	0
(ii) Independent	0	0	0	0	0	0
C. Nominee Directors representing	0	0	0	0	0	0
(i) Banks & FIs	0	0	0	0	0	0
(ii) Investing institutions	0	0	0	0	0	0
(iii) Government	0	0	0	0	0	0
(iv) Small share holders	0	0	0	0	0	0
(v) Others	0	0	0	0	0	0
Total	5	0	5	0	81.68	0

Number of Directors and Key managerial personnel (who is not director) as on the financial year end date

(B) (i) *Details of directors and Key managerial personnel as on the closure of financial year

Name	DIN/PAN	Designation	Number of equity share(s) held	Date of cessation (after closure of financial year : If any)
VIBHORE KAUSHIK	01834866	Director	3470874	
VIJAY KUMAR KAUSHI	02249672	Director	3629363	
VIJAY LAXMI KAUSHIK	02249677	Director	4145763	
PRATIMA SANDHIR	07756142	Director	338500	
PANKAJ KUMAR	08697130	Director	0	

(ii) Particulars of change in director(s) and Key managerial personnel during the year

1		
	,	

Name		beginning / during	lchange in decignation/	Nature of change (Appointment/ Change in designation/ Cessation)
Aditi Shrenik Pasad	ARUPB5325J	Company Secretar	31/01/2021	Cessation

IX. MEETINGS OF MEMBERS/CLASS OF MEMBERS/BOARD/COMMITTEES OF THE BOARD OF **DIRECTORS**

A. MEMBERS/CLASS /REQUISITIONED/NCLT/COURT CONVENED MEETINGS

Number of meetings held

Type of meeting	Date of meeting		Attendance Number of members		
Annual General Meeting	31/12/2020	23	6	85.56	

B. BOARD MEETINGS

*Number of meetings held

S. No.	Date of meeting	Total Number of directors associated as on the date				
		of meeting	Number of directors attended	% of attendance		
1	29/05/2020	5	5	100		
2	10/06/2020	5	5	100		
3	10/08/2020	5	5	100		

S. No.	Date of meeting	Total Number of directors associated as on the date				
		of meeting	Number of directors attended	% of attendance		
4	01/09/2020	5	5	100		
5	08/09/2020	5	5	100		
6	15/10/2020	5	5	100		
7	19/12/2020	5	5	100		
8	30/01/2021	5	5	100		
9	25/03/2021	5	5	100		

C. COMMITTEE MEETINGS

Nu	mber of meeting	gs he l d		0			
	S. No.	Type of meeting	Date of meeting	Total Number of Members as	Attendance		
					Number of members attended	% of attendance	

D. *ATTENDANCE OF DIRECTORS

1

	of the director	Board Meetings			Co	Whether attended AGM		
S. No.		ا ماه نمایی می میشوند ا		% of Meetings which Nudirector was Me		Number of Meetings	% of attendance	held on
		entitled to attend	attended		entitled to attend	attended	allendance	11/30/21 (Y/N/NA)
1	VIBHORE KAI	9	9	100	0	0	0	Yes
2	VIJAY KUMAF	9	9	100	0	0	0	Yes
3	VIJAY LAXMI	9	9	100	0	0	0	Yes
4	PRATIMA SAI	9	9	100	0	0	0	Yes
5	PANKAJ KUM	9	9	100	0	0	0	Yes

X. *F	REMUNERATION OF DIRECTORS	AND KEY MANAGER	AL PERSONNEL
-------	---------------------------	-----------------	--------------

Number of Managing Director, Whole-time Directors and/or Manager whose remuneration details to be entered

5

S. No.	Name	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount
1	VIBHORE KAUSHII	Executive Direct	12000000				0
2	VIJAY KUMAR KAL	Executive Direct	12000000				0
3	VIJAY LAXMI KAUS	Executive Direct	9000000				0
4	PRATIMA SANDHII	Executive Direct	9000000				0
5	PANKAJ KUMAR	Executive Direct	445000				0
	Total		42445000	0			42445000
Number o	of CEO, CFO and Com	pany secretary who	se remuneratior	details to be ente	red	1	
S. No.	Name	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount
1	Ms. Aditi Shrenik Pa	Company Secre	200000	0	0	0	0
	Total		200000	0	0	0	200000
Number o	of other directors whose	remuneration deta	ils to be entered	I		0	
S. No.	Name	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount
1							0
	Total						
* A. Wh pro B. If N	ether the company has visions of the Companions, give reasons/observine Company has not also of the Companies A	s made compliances es Act, 2013 during vations appointed internal	s and disclosure the year auditor for the	s in respect of app	licable Yes 20-21 pursuant to Se	No No ection	
XII. PENA	ALTY AND PUNISHME	NT - DETAILS TH	EREOF	· · · · · · · · · · · · · · · · · · ·		Nil	
Name of compan officers	f the concerne y/ directors/ Authority		Order sect	ne of the Act and tion under which alised / punished	Details of penalty/ punishment	Details of appeal including presen	

(B) DETAILS OF CO	MPOUNDING	OF OFFENCES	× Nil				
Name of the company/ directors/ officers	Name of the concerned Authority	Date of C		Name of the section unde offence comr	which	Particulars of offence	Amount of compounding (in Rupees)
XIII. Whether comp	lete list of sha	areholders, debe	nture hold	ders has bee	n enclos	sed as an attachment	
Ye	s O No						
XIV. COMPLIANCE	OF SUB-SEC	TION (2) OF SEC	TION 92, I	IN CASE OF	LISTED	COMPANIES	
In case of a listed co more, details of com							over of Fifty Crore rupees or
Name		Ketan Ravindra	Shirwadka	ar			
Whether associate	e or fellow	(•) <i>I</i>	Associate	e			
Certificate of pra	ctice number	153	86				
·		100	13300				
(b) Unless otherwise Act during the financ (c) The company has	expressly stat ial year. s not, since the	ed to the contrary e date of the closu	elsewhere are of the la	e in this Retur ast financial y	n, the Co ear with i	reference to which the	with all the provisions of the last return was submitted or in
securities of the com (d) Where the annua	pany. Il return disclos d, the excess c	ses the fact that th consists wholly of	ne number persons w	of members, ho under sec	(except i	n case of a one perso	lic to subscribe for any n company), of the company n-section (68) of section 2 of
			Declara	ation			
I am Authorised by t	he Board of Di	rectors of the com	npany vide	resolution no	04	1 date	ed 26/11/2021
						nies Act, 2013 and the compiled with. I furthe	rules made thereunder er declare that:
							o information material to Is maintained by the company.
-		nts have been cor					, , ,
						l 449 of the Compani e evidence respectiv	es Act, 2013 which provide for ely.
To be digitally sign	ed by						
Director		VIBHOR Digitally signed by VIBHOR KAUSHIK Date: 2022.03.30 RAUSHIK 18.05:15+05'30'	X X				
DIN of the director		01834866					
To be digitally sign	ned by	Ketan Ravindra Shirwadkar Shirwadkar					

Company secretary	in practice			
Membership number	37829	Certificate of pra	actice number	15386
Attachments				List of attachments
1. List of shar	e holders, debenture holders		Attach	Shareholder List.pdf Vibhor UDIN Challan.pdf
2. Approval le	etter for extension of AGM;		Attach	MGT-8-VIBHOR STEEL TUBES PRIVATE
3. Copy of MO	GT-8;		Attach	
4. Optional At	ttachement(s), if any		Attach	
				Remove attachment
	Modify	eck Form	Prescrutiny	Submit

Ocompany Secretary

This eForm has been taken on file maintained by the Registrar of Companies through electronic mode and on the basis of statement of correctness given by the company



KRS AND CO.

Practicing Company Secretaries

Form No. MGT-8

[Pursuant to section 92(2) of the Companies Act, 2013 and rule 11(2) of Companies (Management and Administration) Rules, 2014]

CERTIFICATE BY A COMPANY SECRETARY IN PRACTICE

I have examined the registers, records and books and papers of **VIBHOR STEEL TUBES PRIVATE LIMITED (CIN:U27109HR2003PTC035091)** ("the Company") as required to be maintained under the Companies Act, 2013, ("the Act") and the rules made thereunder for the financial year ended on **31st March**, **2021**. In my opinion and to the best of my information and according to the examinations carried out by me and explanations furnished to me by the company, its officers and agents, I certify that:

- A. The Annual Return states the facts as at the close of the aforesaid financial year correctly and adequately.
- B. During the aforesaid financial year, the Company has complied with provisions of the Act & Rules made there under in respect of:
- 1. Its status under the Act;
- 2. Maintenance of registers/records & making entries therein within the time prescribed therefore;
- 3. Filing of forms and returns as stated in the annual return, with the Registrar of Companies, Regional Director, Central Government, the Tribunal, Court or other authorities within the prescribed time and whenever forms /returns and documents are filed late, the additional filing fees have been paid;
- 4. During the period under review 9 (Nine) Meetings of the Board of Directors were held. The Annual General Meeting of the Company was held on Thursday 31st December, 2020, in respect of which meetings, proper notices were given and the proceedings, have been properly recorded in the Minutes Book/registers maintained for the purpose and the same have been signed;
- 5. Closure of Register of Members during the year under review; (Not Applicable)

Address: - Bldg. No. 123, C-101, Mayur CHS, Tilak Nagar, Chembur, N



KRS AND CO.

Practicing Company Secretaries

- 6. Advances/loans to its directors and/or persons or firms or companies referred in section 185 of the Act; (Not Applicable)
- 7. Contracts/arrangements with related parties as specified in section 188 of the Act;
- 8. Issue or allotment or transfer or transmission or buy back of securities / redemption of preference shareor debentures / alteration or reduction of share capital / conversion of shares/securities and issue of security certificates in all instances;(Not Applicable)
- 9. Keeping in abeyance the rights to dividend, rights shares and bonus shares pending registration of transfer of shares in compliance with the provisions of the Act;

 (Not Applicable)
- 10. Declaration/ payment of dividend; transfer of unpaid/ unclaimed dividend/other amounts as applicable to the Investor Education and Protection Fund in accordance with section 125 of the Act;(Not Applicable)
- 11. The audited financial statement are not signed as per the provisions of section 134 of the Act and however the report of directors is as per sub-sections (3), (4) and (5) thereof;
- 12. The Board of Directors is duly constituted pursuant to the provisions of the Act and Rules made there under. During the year under review Mr. Pankaj Kumar (DIN: 08697130) who was appointed as an additional director was regularised as Director of the Company at the 17th Annual General Meeting held on Thursday 31st December, 2020. Further, Mrs. Aditi Shrenik Pasad (Mem No. A46592) Whole Time Company Secretary, resigned from here office w.e.f 31st January, 2021;

Further Directors have disclosed their interest in other Firms / Companies as per the provisions of the Act and Rules made thereunder. Further Remuneration was paid to Directors;

M/s Singla Shubham & Company, Chartered Accountants, Hisar (FRN: 035815N) were appointed as Statutory Auditors for a period of 5 consecutive financial years i.e. from the conclusion of 16th Annual General Meeting till the conclusion of 21st Annual General Meeting of the Company to be held for the Financial Year 2023-24. Further, the



KRS AND CO.

Practicing Company Secretaries

Company has not appointed an Internal Auditor pursuant to Section 138 of the Companies Act, 2013 and the relevant Rules made thereunder

- 14. Approvals required to be taken from the Central Government, Tribunal, Regional Director, Registrar, Court or such other authorities under the various provisions of the Act;
- 15. Acceptance/ renewal/ repayment of deposits; (Not Applicable)
- 16. Borrowings from its directors, members, public financial institutions, banks and others and creation/ modification/ satisfaction of charges in that respect, wherever applicable;
- 17. Loans and investments or guarantee given or providing of securities to other bodies corporate or persons falling under the provisions of section 186 of the Act;
- 18. Alteration of the provisions of the Memorandum and/ or Articles of Association of the Company;

For KRS AND CO.

Practicing Company Secretaries

KRS AND CO.

Ketan R. Shirwadkar Proprietor ACS No. 37829 COP No. 15386

UDIN:A037829C003322264

Date: 30th March, 2022

Place: Mumbai



VIBHOR STEEL TUBES (P) LTD. (Manufacturer of ERW/GI, Steel Tuebs & Pipes)

Pipe Nagar, (Vill. Sukeli), NH - 17 BKG Road, Via - Nagothane,

Teh.: Roha. Distt. - Raigad. Maharashtra - 402126 Tel.: (02194) 238880 Fax: (02194 - 238671)

Ref. No.

List of Shareholders as on 31st March, 2021

Shareholders Name	No. of Shares	Face Value (in Rs./-)	Nominal Value (in Rs./-)	% of Holding	
Mr. Vijay Kumar Kaushik	3629363	10	36293630	25.59%	
Smt Vijay Laxmi Kaushik	4145763	10	41457630	29.23%	
Mr. Vibhor Kaushik	3470874	10	34708740	24.47%	
Mr. Adhir Mehta	5000	10	50000	0.04%	
Mr.Jagdish Mehta	64000	10	640000	0.45%	
Mr. Mukand Sagar	37500	10	375000	0.26%	
Mr. Mukul Sagar	37500	10	375000	0.26%	
Mr. Ramesh Sagar	75000	10	750000	0.53%	
M/S. Jindal Pipes Limited	250000	10	2500000	1.76%	
M/S. RN Securities Pvt Ltd	150000	10	1500000	1.06%	
Mr. Raj Krishan Bhargava	30000	10	300000	0.21%	
Mr. Vijay Pal Singh	300000	10	3000000	2.11%	
Smt Kiran Pundir	320000	10	3200000	2.26%	
Mr. Sanjay Diwan Huf	220000	10	2200000	1.56%	
Smt Anita Malhotra	91000	10	910000	0.64%	
Mr. Sameer Malhotra	107000	10	1070000	0.75%	
Sameer Malhotra-Huf	68100	10	681000	0.48%	

Vibhor Stee Director

Total	14183000		141830000	100%
Vijay Kaushik Huf	400000	10	4000000	2.82%
Smt, Vanita Sharma	250000	10	2500000	1.76%
Smt. Pratima Sandhir	338500	10	3385000	2.39%
Mr. Yogender Pundir	49400	10	494000	0.35%
Mr. Balbir Singh	79000	10	790000	0.56%
Smt. Astha Malhotra	65000	10	650000	0.46%

//Certified to be true//

FOR MIBHOR STEEL TUBES PRIVATE LIMITED

MR. VIBHORE CAUSHIK
DIRECTOR

DIN: 01834866